COT 3100H Spring 2003 Homework assignments: Relations

3) Given the set A = {2, 4, 6, 8, 10}, define a relation R over A such that R = {(a,b)| a(A ( b(A ( |b – a| = 4}. Is the set reflexive, symmetric, transitive? Justify your answers.

4) Consider the following relation R defined over the set of positive integers:

R = {(x,y) | x/y = 4 ( y/x = 4}

Determine with proof if the relation R is reflexive, symmetric, and transitive.

Assignment #14: Given Tuesday 3/11. Due Thursday 3/13.

1) Define the relation Rn over ZxZ as follows: Rn = {(a,b) | a(Z ( b(Z ( (c(Z a+b =nc} for all positive integers n. Find, with proof, all values of n for which Rn is an equivalence relation.

2) Let A = {1, 2, 3, 4, 5, 6, 7, 8}. 

a) How many different symmetric relations R can be defined over AxA?


b) How many different reflexive relations R can be defined over AxA?


c) How many different anti-symmetric relations R can be defined over AxA?

